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2.

a
J.

4.

© N ok W

« BRI FhE R AR G @R R MR GHIR2aT ©

Karl Marx F5 " 24, (alienation) 225 ;
.Georg Simmel " FER3AL | (subjective culture ) 8 T Z &AL ‘(objective
culture) BIETZL :

ul

. T | 7F 1980 EREFHH ST e SR @R —EEERS - AT
T (R FRER P TR B LR - '

Theodor Adorno
ngbert Marcuse
Pierre Bourdieu

Jean Baudrillard

EatEE Q%)  BEEAE  LBIKETIEREE  BE6 S |

Max Weber B T (BB, (value-free) 82 T {E {ERRH ( value-relevance )
Emile Durkheim B Tit&EE | (social facts)

Talcott Parsons By " ThEE , (function)

George Herbert Mead By T ¥F, (1) & rz% , (me)

Jurgen Habermas B9 " ZAFLHEI ( public sphere.)

Anthony Giddens 9 T f&#&fk, , (structuration )

Michel Foucault é’\] T REE | (genealogy)

Pierre Bourdieu f9 T334 |, (fields)
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1.

A 95% confidence interval for the difference 7~ 7t; between the proportions of men

- and women in a city who are alcoholics equals (0.02, 0.07).

(%t : alcoholics » 8 B &)

A.
B.
C.

r Dowp @

gowp

oo wp

We are 95% confident that the proportion of alcoholics is between 0.02 and 0.07.
Since the confidence interval does not contain 0, it is impossible that w; = 7.

We are 95% confident that the proportion of men in this city who are alcoholics is
between 0.02 and 0.07 larger than the proportion of women in this city who are.

We are 95% co.nﬁderllt that a minority of city residents are alcoholics.

Which scale of measurement is most appropriate for “attained education” when it is
measured as Grade level (elementary school, middle school, high school, college,
graduate school)? ’ '
Nominal

Interval

Ratio

Ordinal

~ Which of the following is considered to be inferential statistics?

. computing a mean

testing the significance of a correlation coefficient
setting up a frequency table

calculating Pearon’s r

Let p(A) = the probability of occurrence of event A, and p(B) = the probability of
occurrence of event B. Events A and B are mutually exclusive. Which of the
following statements is true?

p(A)+pB)=1

p(A or B) =p(A) + p(B)

p(Aand B) =p(A)p(B)

none of the above
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A.

Fﬁé‘] ! -@:FEE,\%— ’ﬂﬂ'&ﬁ
Multicollinearity

FEANEXF BRI - (15%)

Heteroscedasiticity (% -& R % — %)
Interaction ‘

Central Limit Theorem

Type I error

The bivariate association between Y and X| is different from the partial association
between Y and X controlling for X».

B. The slope between Y and X has different values depending on the value of X,
C. Fail to reject null hypothesis when it is false .
D. All variables have approximately bell-shaped sample distributions if a random
_ sample contains at least 30 observations.
E. Aresidual plot indicates that the residuals are much more spread out at h1gh X than
at low X. .
F. Strong intercorrelations among explanatory variables.
‘G. For large random samples, the sampling distribution of Y is approximately normal
regardless of the shape of the population distribution.
H. Reject null hypothesis when it is true
I. When there is multlcolhneanty, may provide regressmn parameter estimates w1th
smaller standard eIrors.
= EA (15%)
NEAERRE NN ELHH TR %%&&w%%%’iﬁiﬁT%ﬁ@&ﬂ%
"RRIRA ) B TUMIRA - @FIHHE R T
| BIUEE ©
. AR
= R RET R fénfﬁﬁfr-f— R
1 5842 341 297 _ 6.8405
a. THEIEEL - (E#8), GENDER Employees' gender, HEIGHT
Employees' height (cm)
b. {fk#& )\ : SALARY Employees'salary ($1000)
BEEIHT O
S ' il HHE PG FTHN Fige |- EEEN
I el 727.571 2 363.785 7.774 .0022
BE 1403.786 30 46.793
it 2131.356 32

2. FEHIEE :

(%80, GENDER Employees' gender, HEIGHT Employees' height (cm)
b. {40\ 1 SALARY Employees' salary ($1000)
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: REEEERE B &
B B Z{EEHE | fE¥EE | Betn S t 55%1’_55 T R
UG- 89.262 | 20937 2987 006 | 28.124 | 150401
%Ef)GHT Employces height -360 189 | -366 1911 066 | -746 025
GENDER Employees' gendel 12232 3.154 744 3878 | . 001 5791 | - 18.674.

a. {80« SALARY Employees salary ($1000)

height : 8 T % & (cm)]
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LUSRER AL | B

B g4 (spuriousness) (69%)
##3:% (double-barreled error) (6%)
&% (ecological fallacy ) (6% )
ERAE (Hawthorne effect) (69%)
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